AFLIGRER

=

%

=
L3 | CPERTHEE THEFE01S MEEEERGEMRM 3 FrEEtE T3
A #. B K| CEEK27TH5H25H ZERT 9 B 00 4y
B 5 P EAET RRER - EHHE - AHT M
B oE ¥ F o1 | SER=E 2 i =
; A 165 1 2 Al 5 1A
1 bmT2E 5, 500, 000 ?@fmﬂg
2 (B R 7, 960, 000
3 EIREE (B S0 T 5, 760, 000 EHL
4 JUMBEEER (BR) ERE ERT 8, 300, 000
5 (M) = —= o Hig 7,230, 000
- A 165 1 R A 5 1A
6 () Dt 5,615, 000 Elasligel i
7 | FuEERR () 7, 124, 000
8 (A) —/\ s FER
9
10
11
12
13
14
15
SRAEFTHL (RFREF) a=1, 318. 74m2
] ( &H ) a= 493. 85m2
I ( J\HT ) a= 137.20m2
W oE & X T 12X
TEAMRS © 8,382,000 BiA S 9, 052, 560H
T o B ~ SERR2TAETH 31 H
s = LR OEALEEED 1004y WCFAY T D4E A NG L= 448 (CY4%E44E1C 1 HRTHO
g WS D L EIX, FOY iﬁé%ﬁ%ﬂwj&‘fti%ﬁ) DK EFETH D,




